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Explanation
This question requires students to deal with extensive competing 
information. There are four pieces of information set out in the 
question, all of which must be compared to the correct set of 
ride requirements. This in itself might run counter to the reader’s 
expectations as the correct section is ‘Unaccompanied child’, 
despite the questions asking about two children riding together. 
There is also information that must be taken into account in the 
column ‘Other restrictions’.

The structure of the table is logical and the requirements are laid 
out clearly, but having to compare four pieces of information to 
three different columns in a table entails managing a considerable 
amount of complexity. 

Text complexity
This text has mainly familiar content and structure. The main text 
is a table that shows the requirements to ride each attraction at a 
fi ctional fun park. There is also a smaller table that is a key to the 
symbols used in the main table.

The text’s complexity comes mainly from the density of the 
information contained in the two tables and the fact that the 
main table cannot be understood completely without reference to 
the key. Additionally, there is diffi cult vocabulary like ‘minimum’, 
‘restrictions’ and ‘unaccompanied’, and also non-words used as 
names, like ‘Zorbitron’, ‘Orbitor’ and ‘Gallexicus’.

Which ride could Yusuf and Salima go on together?

A Galletron Power Builder
B Star Explorer
C Orbitor Ride
D Moon Crater

Age Height
Yusuf 6 years 110 centimetres
Salima 8 years 132 centimetres

Answer: D. Moon Crater

Fun Park


